HEFE
1. BEOREICEHT S &

-1 MEFR EEREQEIEREFNIL)

FHE RSN FH Fik2 FiR3 it
B# 0 5, 654 1,847 21,011 28,512
i 0. 0% 19. 8% 6. 5% 73. 7% 100. 0%

BETEMNFR/MEER EERAEDOEIREFHIL)
iR FRI Fith2 Fik3 Bit

AE (FEXRTE) 0 1,959 144 8,723 11, 426
K& (BB T %<2 x 455)) 0 322 47 378 147
K& (FUNTKRENRIVTESE 0 346 80 2,084 2,510
#HEmary)—k RO & 0 1 7 6 20
BHa oY —F (RO) #EST LT 0 6 3 1 16
#%E ) & 0 97 1 64 168
B%E (S) BETLNT> 0 2,909 958 9,745 13,612
HEHKHI Y )~k (SRC) & 0 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0 0
Z Db 0 2 0 0 2
= 0 9, 648 1,846 21,007 28, 501

BETEANE S/ MEFR EEREQEIEREFNRL)
MRS FR Fih2 Fik3 Bt

K& (FEEIEK) 0. 0% 17.1% 6. 5% 76. 3% 100. 0%
RiE (BiREET A2 x45%D) 0. 0% 43. 1% 6. 3% 50. 6% 100. 0%
K& (FLNITKENRRIVTESE 0. 0% 13. 8% 3. 2% 83. 0% 100. 0%
#HEHar o )—k (RO & 0. 0% 35. 0% 35. 0% 30. 0% 100. 0%
#HHav ) —F (RO ELTLANTY 0. 0% 37.5% 18. 8% 43. 8% 100. 0%
#H®E (S & 0. 0% 57. 7% 4. 2% 38. 1% 100. 0%
#BE () BEITLNTD 0. 0% 21. 4% 1.0% 71. 6% 100. 0%

BHEHKHFI V) —F (SRC) & - - - - -
avyy—rkJOyy (CB) i& - - - - -
Z D 0. 0% 100. 0% 0. 0% 0. 0% 100. 0%
= 0. 0% 19. 8% 6. 5% 13. 7% 100. 0%
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HEFE
1. BEOREICEHT S &

1-2 MEFH EEREDEEHILE)

Al R FRI Fih2 Fk3 =kl
B# 0 5, 807 1,847 20, 858 28,512
i 0. 0% 20. 4% 6. 5% 73. 2% 100. 0%

BETEMNFH/MESFR EEREDBENL)
iR FRI Fith2 Fik3 Bit

AE (FEXRTE) 0 1,961 144 8,721 11, 426
K& (BB T %<2 x 455)) 0 322 47 378 147
K& (FUNTKRENRIVTESE 0 346 80 2,084 2,510
#HEmary)—k RO & 0 8 6 6 20
BHa oY —F (RO) #EST LT 0 6 3 1 16
#%E ) & 0 93 8 67 168
B%E (S) BETLNT> 0 3, 063 958 9, 591 13,612
HEHKHI Y )~k (SRC) & 0 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0 0
Z Db 0 2 0 0 2
= 0 9, 801 1,846 20, 854 28, 501

BETEMNE S/ MEFR EEREQBERLE)
Al R FRI Fih2 Fik3 Bt

K& (FEEIEK) 0. 0% 17. 2% 6. 5% 76. 3% 100. 0%
RiE (BiREET A2 x45%D) 0. 0% 43. 1% 6. 3% 50. 6% 100. 0%
K& (FLNITKENRRIVTESE 0. 0% 13. 8% 3. 2% 83. 0% 100. 0%
#HEHar o )—k (RO & 0. 0% 40. 0% 30. 0% 30. 0% 100. 0%
#HHav ) —F (RO ELTLANTY 0. 0% 37.5% 18. 8% 43. 8% 100. 0%
#H®E (S & 0. 0% 55. 4% 4. 8% 39. 9% 100. 0%
#BE () BEITLNTD 0. 0% 22.5% 1.0% 70. 5% 100. 0%

BHEHKHFI V) —F (SRC) & - - - - -
avyy—rkJOyy (CB) i& - - - - -
Z D 0. 0% 100. 0% 0. 0% 0. 0% 100. 0%
= 0. 0% 20. 4% 6. 5% 13. 2% 100. 0%
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HEFE

1. BEOREICEHT S &

-4 MREEFR BERAEQEIREN IR TEEHIE)

ik Fik2 &it
B# 6, 347 22,164 28,511
% 22. 3% 17. 7% 100. 0%
BETERNF /M RER EERAEOEIRFN LR CBEEIE)

Fiki Fik2 a&f
A& (FEXRITE) 2,333 9,093 11,426
K& (BB T %<2 x 455)) 324 423 1417
RE (FLNTKERRIVTESE 339 2,170 2,509
#HEHar o )—k RO & 5 15 20
#HHar oY —F (RO) @EST LT 2 14 16
#%E ) & 100 68 168
B%E (S) BETLNT> 3,236 10, 376 13,612
HEHKHI Y ) —F (SRC) & 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0
Z Db 2 0 2
Bit 6, 341 22,159 28, 500
BETEMNES/MEER EEREDQEIRERILERVEGLL)

ik Fik2 &it
K& (FEEIEK) 20. 4% 79. 6% 100. 0%
RiE (BiREET A2 x45%D) 43. 4% 56. 6% 100. 0%
K& (FLNTKRBENRRIVTEE 13. 5% 86. 5% 100. 0%
#HEHar o )—k (RO & 25. 0% 75. 0% 100. 0%
#HHav ) —F (RO ELTLANTY 12. 5% 87. 5% 100. 0%
#%E S & 59. 5% 40. 5% 100. 0%
#BE () BEITLNTD 23. 8% 76. 2% 100. 0%
BHEHKHFI V) —F (SRC) & - - -
avyy—rkJoyy (CB) i& - - -
Z Db 100. 0% 0. 0% 100. 0%
= 22. 2% 77.8% 100. 0%
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HEFE

1. BEOREICEHT S &

1-5 MEEEHR EEREQEIREFNH LR VEGHIL)

ZEXEs | FR Fik2 Bit
B# 21,433 664 414 28,511
% 96. 2% 2. 3% 1. 5% 100. 0%
BETERFE/ MEEFHR (BEREQEERER IR UTEERIE)

ZuRiEs | FR FiR2 =
A& (FEXRITE) 11,270 89 67 11,426
RiE (B#REET A2 x4%D) 734 8 5 741
RE (FLNTKERRIVTESE 2,135 66 309 2,510
#HEHar o )—k RO & 18 1 1 20
#HHar oY —F (RO) @EST LT 14 0 2 16
#%E ) & 158 9 1 168
B%E (S) BETLNT> 13, 091 491 29 13, 611
HEHKHI Y ) —F (SRC) & 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0
Z Db 2 0 0 2
Bit 21,422 664 414 28, 500
BETEMNE S/ MBEEEFR (BEREDEREN LR EEHIE)

ZEXEs | FR Fik2 Bit
K& (FEEIEK) 98. 6% 0.8% 0. 6% 100. 0%
RiE (BiREET A2 x45%D) 98. 3% 1.1% 0. 7% 100. 0%
K& (FLNITKENSRIVTESE 85. 1% 2. 6% 12. 3% 100. 0%
#HEHar o )—k (RO & 90. 0% 5.0% 5. 0% 100. 0%
#HHav ) —F (RO ELTLANTY 87. 5% 0. 0% 12. 5% 100. 0%
#%E S & 94. 0% 5. 4% 0. 6% 100. 0%
#BE () BEITLNTD 96. 2% 3. 6% 0. 2% 100. 0%
BHEHKHFI V) —F (SRC) & - - - -
avyy—rkJoyy (CB) i& - - - -
Z Db 100. 0% 0. 0% 0. 0% 100. 0%
= 96. 2% 2. 3% 1. 5% 100. 0%
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HEFE

2. KKBDREICET S &

21 BHNEREERESH (DEF K

ik Fih2 k3 Fika &&t
B 25, 046 3, 362 44 57 28, 509
% 87. 9% 11. 8% 0. 2% 0. 2% 100. 0%
BE LA PR/ BANEREEREEHR (BEFKKEH)

Fik Fik2 k3 Fika =L
A& FERIE) 8, 902 2,482 38 2 11,424
RiE (PelEE TR x4%)) 564 176 3 4 1417
K& (TUNTKRE/NSRIVTESE 2,467 41 0 2 2,510
#HEmar o )—k RO & 19 1 0 0 20
#Hav s —F (RO ETL/ANT> 16 0 0 0 16
#%E O & 145 23 0 0 168
#%E (S ETLNT> 12,923 636 3 49 13, 611
HEHKHII Y-k (SRO) & 0 0 0 0 0
avyYY—kJOvyY (CB) i& 0 0 0 0 0
Z D 2 0 0 0 2
a&t 25, 038 3, 359 44 57 28, 498
BETEMNE S/ BANEREEREFHR (BEFKKEH)

ik Fih2 k3 Fika =L
XiE&E (FEERIE) 77. 9% 21. 7% 0. 3% 0. 0% 100. 0%
RiE (BB T H<2 x4%D) 75. 5% 23. 6% 0. 4% 0. 5% 100. 0%
K& (TULNTKRENSRIVITESE 98. 3% 1. 6% 0. 0% 0.1% 100. 0%
#EHa s Y—F (RO & 95. 0% 5. 0% 0. 0% 0. 0% 100. 0%
#EHa v ) —F (RO ETL/ANTY 100. 0% 0. 0% 0. 0% 0. 0% 100. 0%
#%E S & 86. 3% 13. 7% 0. 0% 0. 0% 100. 0%
#B%E () BE<TLNTD> 94. 9% 4.7% 0. 0% 0. 4% 100. 0%
HEHHa Y )—F (SRO) & - - - - -
avyYY—krJOvY (CB) i - - - - -
Z D 100. 0% 0. 0% 0. 0% 0. 0% 100. 0%
a&t 87. 9% 11. 8% 0. 2% 0. 2% 100. 0%
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2-4 BRHR CREKEH)

B N = A&t
Fi 26, 893 2 844 770 28, 509
% 94. 3% 0. 0% 3.0% 2. 7% 100. 0%
WS TRR P8/ B R R (R SER)

AL N = =X
A& (FEERIE) 11, 059 1 95 269 11,424
ARiE (BfEEE T A2 x4%)) 633 0 29 85 7147
K (TUNTKRE/INNRIVTEED 2,444 0 55 11 2,510
#HEgar o )—hk (RC) & 12 0 0 8 20
a2 )—bk RC) ETLANTD 13 0 1 2 16
#E (S) & 78 0 27 63 168
B (S) BT LANT> 12, 643 1 635 332 13,611
HEHEHao)—F (SRC) & 0 0 0 0 0
arvy)—krJOwvy (CB) & 0 0 0 0 0
Z Dt 2 0 0 0 2
=5 26, 884 2 842 770 28, 498
BETTEREIS /B R CRSER)

B ® N\ = &5t
A& (FEERIE) 96. 8% 0. 0% 0.8% 2. 4% 100. 0%
A& (BfEEE T2 x45)>) 84. 7% 0. 0% 3.9% 11. 4% 100. 0%
ARiE (TUNTREBNRIVTEREE 97. 4% 0. 0% 2. 2% 0. 4% 100. 0%
oy )—k (RC) & 60. 0% 0. 0% 0. 0% 40. 0% 100. 0%
a2 )—bk (RC) ESTLANTD 81.3% 0. 0% 6. 3% 12. 5% 100. 0%
B (S) & 46. 4% 0. 0% 16. 1% 37. 5% 100. 0%
#%B (S) ETLANTD> 92.9% 0. 0% 4. 7% 2.4% 100. 0%
SEHHa ) — bk (SRC) & - - - -
arvy)y—kJOovy (CB) & - - - -
Z Dk 100. 0% 0. 0% 0. 0% 0.0% 100. 0%
= 94. 3% 0.0% 3.0% 2. 7% 100. 0%
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2-5 MAFEH EHEOEZTILDHLES (FAOE] )

ZOEL | EHRA1 Fik2 Fik 3 B&t
B 50 23, 040 5,420 2 28,512
% 0. 2% 80. 8% 19. 0% 0. 0% 100. 0%
BETERNFR/MAFEHR FEREOEZNDHSHES (FAOARR] )

ZEEL | F8HA1 Fik2 Fik 3 =L
A& FERIE) 23 8, 363 3,039 1 11,426
K& (PelEE TR x4%)) 2 519 226 0 1417
K& (TUNTKRE/NSRIVTESE 2 2,316 192 0 2,510
#HEmar o )—k RO & 1 15 4 0 20
#Hav s —F (RO ETL/ANT> 0 8 8 0 16
#%E O & 0 15 93 0 168
#%E (S ETLNT> 22 11,735 1,854 1 13,612
HEHKHII Y-k (SRO) & 0 0 0 0 0
avyYY—kJOvyY (CB) i& 0 0 0 0 0
Z D 0 2 0 0 2
a&t 50 23, 033 5, 416 2 28, 501
BETZENEE/MXER EEOESENDHLHES (FAOE] )

ZOEL | SR Fik2 Fi#k 3 =L
XiE&E (FEERIE) 0.2% 73. 2% 26. 6% 0. 0% 100. 0%
RiE (BB T H<2 x4%D) 0. 3% 69. 5% 30. 3% 0. 0% 100. 0%
K& (TULNTKRENSRIVIESE 0. 1% 92. 3% 1. 6% 0. 0% 100. 0%
#EHa vy —F (RO & 5. 0% 75. 0% 20. 0% 0. 0% 100. 0%
#EHa v ) —F (RO ETL/ANTY 0. 0% 50. 0% 50. 0% 0. 0% 100. 0%
#%E (S & 0. 0% 44. 6% 55. 4% 0. 0% 100. 0%
#B%E () BE<TLNTD> 0. 2% 86. 2% 13. 6% 0. 0% 100. 0%
HEHHa Y )—F (SRO) & - - - - -
avyYY—krJOvY (CB) i - - - - -
Z D 0. 0% 100. 0% 0. 0% 0. 0% 100. 0%
a&t 0. 2% 80. 8% 19. 0% 0. 0% 100. 0%
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2-6 MAFH EEOEETIDHLHES (FAOELSN] )

AL | EH1 k2 %3 %k 4 &t
P 31 2,157 25,276 842 206] 28,512
% 0. 1% 7. 6% 88. 7% 3. 0% 0.7%  100.0%
BETEAER/ MAER REODEZTADHDEH (BHOEELIS] )

A IET R k2 k3 %4 &it
A& (FEXRIZE) 17 1,718 9,316 370 5 11,426
ARiE (BB TR x4%)) 2 245 424 73 3 747
KiE (FLNTKRBENRIVTESE 1 25 2, 455 28 1 2,510
BHar s )—+k (RC) & 1 4 2 0 13 20
a2 )—k (RC) #E<TL/ANTY 0 1 7 0 8 16
$%E (S) & 0 24 73 65 6 168
#%E (S) E<TLNT> 10 138 12,989 305 170] 13,612
HEHHa U )—F (SRC) & 0 0 0 0 0 0
avoy—kJaws (CB) & 0 0 0 0 0 0
Z Dith 0 1 1 0 0 2
&ait 31 2,156] 25,267 841 206] 28,501
BE TEBES/MAER EEOSEFADHZED (BIOZRUS] )

EEIA DS Fh2 F#H3 k4 =
AiE (FEXRIE) 0.1% 15. 0% 81. 5% 3.2% 0.0%  100.0%
AE (BB TR x4%)) 0. 3% 32. 8% 56. 8% 9. 8% 0.4%  100.0%
AE (TLNTRBENRIVIESE 0. 0% 1.0% 97. 8% 1.1% 0.0%  100.0%
oo U—F (RC) & 5. 0% 20. 0% 10. 0% 0. 0% 65.0%  100. 0%
a2 —k (RC) #E<TL/ANTD 0. 0% 6. 3% 43. 8% 0. 0% 50.0%|  100. 0%
#%E (S) & 0. 0% 14. 3% 43. 5% 38. 7% 3.6%  100. 0%
B (S) ETLANT> 0. 1% 1.0% 95. 4% 2.2% 1.2%  100.0%
BEHHaY ) — bk (SRC) & - - - - - -
arvyY)—kJOws (CB) & - - - - - -
ZDith 0. 0% 50. 0% 50. 0% 0. 0% 0.0%  100.0%
&&t 0.1% 7. 6% 88. 7% 3. 0% 0.7%  100.0%
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HEFE

3. FILDERICEHT S &

3-1 SbxtRHFHR HBEREE)

Fk Fik2 k3 =El
B# 1,199 2, 754 24, 559 28,512
% 4. 2% 9. 7% 86. 1% 100. 0%
BETIERNFH/ S RER EERAFE)

Fikl k2 Fik3 &it
A& (FEXRITE) 378 1,943 9,105 11,426
K& (BB T %<2 x 455)) 63 505 179 147
K& (FUNTKRENRIVTESE 39 280 2,191 2,510
#HEHar o )—k RO & 8 10 2 20
#HHar oY —F (RO) @EST LT 0 0 16 16
#%E ) & 106 6 56 168
B%E (S) BETLNT> 602 6 13, 004 13,612
HEHKHI Y ) —F (SRC) & 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0
Z Db 2 0 0 2
Bit 1,198 2,750 24, 553 28, 501
BETEANEE/ S REFR EEREE)

Fki Fik2 Fk3 =El
K& (FEEIEK) 3. 3% 17.0% 79. 7% 100. 0%
RiE (BiREET A2 x45%D) 8. 4% 67. 6% 24. 0% 100. 0%
K& (FLNITKENSRIVTESE 1. 6% 11. 2% 87. 3% 100. 0%
#HEHar o )—k (RO & 40. 0% 50. 0% 10. 0% 100. 0%
#HHav ) —F (RO ELTLANTY 0. 0% 0. 0% 100. 0% 100. 0%
#%E (S & 63. 1% 3. 6% 33. 3% 100. 0%
#BE () BEITLNTD 4. 4% 0. 0% 95. 5% 100. 0%
BHEHKH Y )—k (SRC) & - - - -
avyy—rkJoyy (CB) i& - - - -
Z Db 100. 0% 0. 0% 0. 0% 100. 0%
= 4. 2% 9. 6% 86. 1% 100. 0%

FRISFEEEFEEMARETME G E) T2 (et R TR




HEFE

4 HEFEE - BEHAOREICETSL

41 HHEEENREFR (EREE)

ZEEL Fik Fik2 Fik3 Bit
B# 8 3,103 3, 154 22, 246 28, 511
i 0. 0% 10. 9% 11.1% 78. 0% 100. 0%
BETERNF R/ FEENRER (ERARE)

ZEL ik Fithk2 Fik3 Bit
AE (FEXRTE) 4 638 968 9,815 11, 425
KiE (B#REET A2 x4%D) 0 319 96 332 147
K& (FUNTKRENRIVTESE 0 206 94 2,210 2,510
#HEmary)—k RO & 0 5 7 8 20
BHa oY —F (RO) #EST LT 0 3 6 1 16
#%E ) & 0 16 30 62 168
B%E (S) BETLNT> 4 1,849 1,949 9,810 13,612
HEHKHI Y )~k (SRC) & 0 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0 0
Z Db 0 2 0 0 2
Bit 8 3,098 3, 150 22, 244 28, 500
BETENE S/ HMBFEENRER (FREE)

ZEEL Fik Fik2 Fik3 it
K& (FEEIEK) 0. 0% 5. 6% 8.5% 85. 9% 100. 0%
RiE (BiREET A2 x45%D) 0. 0% 42. 7% 12. 9% 44. 4% 100. 0%
K& (FLNITKENRRIVTESE 0. 0% 8. 2% 3. 7% 88. 0% 100. 0%
#HEHar o )—k (RO & 0. 0% 25. 0% 35. 0% 40. 0% 100. 0%
#HHav ) —F (RO ELTLANTY 0. 0% 18. 8% 37. 5% 43. 8% 100. 0%
#H®E (S & 0. 0% 45. 2% 17. 9% 36. 9% 100. 0%
#BE () BEITLNTD 0. 0% 13. 6% 14. 3% 72.1% 100. 0%
BHEHKHFI V) —F (SRC) & - - - - -
avyy—rkJOyy (CB) i& - - - - -
ZDis 0. 0% 100. 0% 0. 0% 0. 0% 100. 0%
= 0. 0% 10. 9% 11.1% 78. 0% 100. 0%
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CERBMRIRICEAYT S &

5-1 BT RILF—MEER

Fk Fik2 k3 Fiha Bt
B# 338 5, 390 12,671 10,113 28,512
i 1.2% 18. 9% 44. 4% 35. 5% 100. 0%
BETERNFH/E T I —EEFR

Fikl k2 Fik3 Fiha Bit
AE (FEXRTE) 166 4,726 5, 301 1,233 11, 426
KiE (B#REET A2 x4%D) 38 412 181 116 147
K& (FUNTKRENRIVTESE 15 97 1,697 701 2,510
#HEmary)—k RO & 3 9 6 2 20
BHa oY —F (RO) #EST LT 1 2 9 4 16
#%E ) & 61 45 39 23 168
B%E (S) BETLNT> 53 97 5,431 8, 031 13,612
HEHKHI Y )~k (SRC) & 0 0 0 0 0
avyYY—kJBvyY (CB) i& 0 0 0 0 0
Z Db 1 0 0 1 2
Bit 338 9, 388 12, 664 10, 111 28, 501
BETEANES/ET R —RFR

Fki Fik2 Fk3 Fika Bt
K& (FEEIEK) 1. 5% 41. 4% 46. 4% 10. 8% 100. 0%
RiE (BiREET A2 x45%D) 5. 1% 55. 2% 24. 2% 15. 5% 100. 0%
K& (FLNITKENRRIVTESE 0. 6% 3. 9% 67. 6% 27. 9% 100. 0%
#HEHar o )—k (RO & 15. 0% 45. 0% 30. 0% 10. 0% 100. 0%
#HHav ) —F (RO ELTLANTY 6. 3% 12. 5% 56. 3% 25. 0% 100. 0%
#H®E (S & 36. 3% 26. 8% 23. 2% 13. 7% 100. 0%
#BE () BEITLNTD 0. 4% 0. 7% 39. 9% 59. 0% 100. 0%
BHEHKHFI V) —F (SRC) & - - - - -
HKEHHIH)—F (SRC) & - - - - -
Z D 50. 0% 0. 0% 0. 0% 50. 0% 100. 0%
= 1.2% 18. 9% 44. 4% 35. 5% 100. 0%
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HEFE

CERBMRIRICEAYT S &

5-1 BT RILF—MEER

Fk Fik2 k3 Fiha Bt
B 338 5, 390 12, 671 10,113 28,512
% 1.2% 18. 9% 44. 4% 35. 5% 100. 0%
ISR FH/E T IV KEFR

Fikl k2 Fik3 Fiha Bit
I Hhig 1 4 6 17 34
1T iz 2 16 249 121 388
I #h 32 5 98 504 511 1,118
IV Hhig 314 5, 251 11, 731 9, 289 26, 585
V ihig 8 21 140 167 336
VI iz} 2 0 41 4 47
a&t 338 5, 390 12, 671 10, 109 28, 508
MRS EE/E T RILF A EKEFR

Fiki Fik2 Fik3 Fiha &t
I #his 20. 6% 11. 8% 17. 6% 50. 0% 100. 0%
1T iz 0. 5% 4. 1% 64. 2% 31. 2% 100. 0%
I #h 32 0. 4% 8. 8% 45.1% 45. 7% 100. 0%
IV #h g} 1. 2% 19. 8% 44.1% 34. 9% 100. 0%
V iz 2. 4% 6. 3% 41.7% 49. 7% 100. 0%
VI i i3} 4. 3% 0. 0% 87. 2% 8. 5% 100. 0%
A&t 1.2% 18. 9% 44. 4% 35. 5% 100. 0%
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HEFE

6. ERIRIRICEHATSH L

6-1 RILLTILTE RKRE

A 4 A A4\ | 48/ A [m VA AN &5t
F# 4 180 3| 14, 541 129 10, 942 2| 25,801
% 0.0% 0. 7% 0.0%| 56.4% 0.5%| 42.4% 0.0%| 100. 0%
BETEAIFE RILLAT7ILTE FXE

4 40 A4/\ | 48 m| [m /AN N\ &5t
A& (FEERIE) 3 94 2| 5,986 35| 4,728 0l 10,848
ARE (FFHEE T R<2 x 45D) 0 17 0 364 8 267 1 657
A& (TLNTLKRENRIVTESE 0 10 0 711 27 855 11 1,604
#Hmaros)—F (RO) & 0 1 1 10 0 7 0 19
BEHar oy )—hk (RC) &E<TLNTD 0 0 0 3 2 6 0 11
#®E (S) & 0 15 0 61 3 60 0 139
$B%E (S) ETLANDD 1 41 0 7,396 54| 5,018 0 12,510
HEHH ) —F (SRC) & 0 0 0 0 0 0 0 0
avyy—rJowyy (CB) & 0 0 0 0 0 0 0 0
Z Dt 0 1 0 1 0 0 0 2
a5t 4 179 3| 14,532 1291 10, 941 2| 25,790
BEIENEE/ RILLTILTE RXK

A 4 0 AN I =VAY m| [m VAN JAY &it
AE& (FEEIE) 0. 0% 0.9% 0.0% 55.2% 0.3%| 43.6% 0. 0%| 100. 0%
Ri&E (B#EEE TR x45) 0.0% 2. 6% 0.0% 55.4% 1.2% 40.6% 0.2%| 100. 0%
AKi&E (TLNITKRENRIWTESE 0. 0% 0. 6% 0.0% 44.3% 1.7% 53.3% 0. 1%| 100. 0%
Bgmary)—k (RC) & 0.0% 5. 3% 5.3% 52.6% 0.0% 36.8% 0.0%| 100. 0%
BEHar s )—bk (RC) #E<TLANTD 0. 0% 0.0% 0.0% 27.3% 18.2% 54.5% 0. 0%| 100. 0%
#%E (S) & 0.0% 10.8% 0.0% 43.9% 2.2% 43.2% 0.0%| 100. 0%
#B%E (S) ELTLNTD 0. 0% 0.3% 0.0% 59.1% 0.4% 40.1% 0. 0%| 100. 0%
BEHHIY)—F (SRO) & - - - - - - - -
avy)y—kJAvYy (CB) & - - - - - - - -
Z it 0.0%| 50. 0% 0. 0% 50.0% 0.0% 0. 0% 0.0%| 100. 0%
&t 0. 0% 0. 7% 0.0% 56.3% 0.5% 42.4% 0. 0%| 100. 0%

FRISFEERREEMRRITME ) 7T -2 (FEHaEE- R THhE




6-1 RILLTILTE FRER/HRILLTILTE FEHER (RE)

UL | HHki k2 E#k 3 &5t
P 0 16 2,981 9,144 12, 141
% 0. 0% 0. 1% 24. 6% 75. 3% 100. 0%
BETENPE/RIVLTILTE FRE/RIVLTILTE FEEREFER (RE)

UL | HH&A Zih2 £k 3 A&t
AiE (FEEIE) 0 6 1,695 2, 764 4, 465
AiE (HfHEE TR x4%)) 0 4 186 185 375
AiE (TLNTKRBNARIIVTES 0 1 816 342 1,159
a2 )—k (RO) & 0 0 2 4 6
o rs)— bk (RC) ECTLADD 0 0 2 5 7
#%E (S) & 0 0 15 43 58
#%B (S) BT LANTD 0 5 265 5, 800 6,070
BEHHI YY) —k (SRC) & 0 0 0 0 0
avy)y—kJOvs (CB) ¥ 0 0 0 0 0
FDith 0 0 0 0 0
&&t 0 16 2,981 9,143 12, 140
ST EBES/RIVLTILTE RRERIVLTILTE FEREEHR (RE)

L | HHk k2 /3 A&t
A& (FEERIE) 0. 0% 0. 1% 38. 0% 61.9% 100. 0%
AiE (BB TR x4%)) 0. 0% 1.1% 49. 6% 49. 3% 100. 0%
AiE (FLNTKRENRILTESE 0. 0% 0. 1% 70. 4% 29. 5% 100. 0%
a2 )— bk (RC) i& 0. 0% 0. 0% 33. 3% 66. 7% 100. 0%
o v s )— bk (RC) E<TLANATD 0. 0% 0. 0% 28. 6% 71. 4% 100. 0%
#%E (S) & 0. 0% 0. 0% 25. 9% 74.1% 100. 0%
#%E (S) BT LANT> 0. 0% 0.1% 4. 4% 95. 6% 100. 0%
BEHFO VYY) — bk (SRC) & - - - - -
avyy—rJOvy (CB) i#& - - - - -
Z Dk - - - - -
A&t 0. 0% 0.1% 24 6% 75. 3% 100. 0%

FRISEERREEMRRTME ) T -5 (EEMEaeEHE- R~

A
=



6-1 RILLATILTE RRE/RILLTILTE FEEBEH (KHEZ)

Zul | FHh2 ik 3 =E

F# 13 3,713 8, 352 12,138

% 0. 1% 31. 1% 68. 8% 100. 0%

BEIZNFH/HRILLTILTE FRE/RILLATILT £ REBER (RAES)

Zoul | FHhe2 Fik3 =E

A& (FEERIE) 3 2,153 2,307 4,463
K& (BHEEE TR x455)) 4 260 11 375
RE (FULNTKRENRRIIVIES 2 827 330 1,159
#HHmar 2 )—k (RO & 1 1 4 6
#HHa Y )—F (RC) BESTLNT> 0 3 4 i
#%E O & 0 41 11 58
#%E (S EITLND> 3 482 5, 584 6, 069
HEHHI VY —k (SRO) & 0 0 0 0
avyy—krJavy (B) & 0 0 0 0
Z Db 0 0 0 0
= 13 3,713 8, 351 12,137

BETEMNEIS/RILLTILTE RRE/RILLATILTE REBER (RFEESH)

ZEl | FHhe2 Fik3 &t

K& (FEETE) 0. 1% 48. 2% 51.7% 100. 0%
K& (BB TR x4%) 1.1% 69. 3% 29. 6% 100. 0%
K& (FLNITLKRENRIVIES 0. 2% 71. 4% 28. 5% 100. 0%
#HEma 2 )—k (RO & 16. 7% 16. 7% 66. 7% 100. 0%
#HHa o) —F (RC) BE<TLNT> 0. 0% 42. 9% 57. 1% 100. 0%
#H%E ) & 0. 0% 81.0% 19. 0% 100. 0%

BE (S BTLNTD 0. 0% 7.9% 92.0%  100. 0%
BEBHIIU—F (RO & = - = -

avyy)—krJoyvy (CB) & - - - Z

Z D1t

ast 0.1% 31.1% 68. 8% 100. 0%

FRISFEEEREEMRTME (HE) T2 (EEitaes - R HhE



6-2 EEDHMIXIE

AL A O N\ &it
F# 397 13, 384 595 27 14, 403
% 2.8% 92. 9% 4.1% 0.2% 100. 0%
BELENFH/ BEOBRITEK

EALY® 1 = A &t
A& (FEEXRIE) 37 4,639 91 3 4,770
A& (BB T E<2x45%)) 0 376 8 0 384
A& (TLNTKRENRIVTESE 0 1,191 1 2 1,194
a2 )—hk (RC) & 0 6 0 0 6
a1 )—k (RC) &E<TL/NTD> 0 7 0 0 7
#®E (S) & 0 61 2 0 63
B (S) ETLNDD> 360 7,103 493 22 7,978
HEHHmaY)—F (SRC) & 0 0 0 0 0
avHh)y—kJOvy (CB) & 0 0 0 0 0
Z Dk 0 0 0 0 0
&&t 397 13, 383 595 27 14, 402
BELENEES/ BEOBRIXEK

AL A4 m| I\ &5t
A& (FEERIE) 0.8% 97.3% 1.9% 0.1% 100. 0%
ARiE (BBiHEETE<2x45)) 0.0% 97. 9% 2.1% 0.0% 100. 0%
RKiEg (FUNTRENRIITESE 0.0% 99. 7% 0.1% 0.2% 100. 0%
;oo U—k (RO & 0.0% 100. 0% 0.0% 0.0% 100. 0%
a2 )—bk (RC) ESTLANTD 0.0% 100. 0% 0. 0% 0. 0% 100. 0%
®E (S & 0.0% 96. 8% 3.2% 0.0% 100. 0%
BB (S) E<TLANTD 4.5% 89. 0% 6. 2% 0.3% 100. 0%
HEHHaY)— bk (SRC) & - - - - -
avyy—rJOowyy (CB) & - - - - -
Z D - - - - -
&5t 2. 8% 92. 9% 4.1% 0. 2% 100. 0%

FRISEERREEMRRTME ) T -5 (EEMEaeEHE- R~
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6-2 BErsxE (ERT)

B A 40 A O/\ O N &5t
F# 5 9501 21,703 1 5, 849 4] 28,512
% 0. 0% 3.3% 76.1% 0. 0% 20. 5% 0.0%| 100.0%
BELEFH/BBS xR (ER)

%L A 10 4 0/\ =) I\ &t
A& (FEERIE) 0 752 5,120 0 5,554 o 11,426
A& (BB T E2x4%)) 0 50 596 0 100 1 147
RiE (FUNTRBENRIIVTES 1 53 2,430 0 26 0 2,510
a2 )—hk (RC) & 0 0 20 0 0 0 20
oo )—b RC) BESTLANTD 0 0 16 0 0 0 16
#®E (S) & 0 11 133 0 23 1 168
HE (S) &I LT 4 83| 13,377 1 145 2 13,612
HEHHa T )— bk (SRC) & 0 0 0 0 0 0 0
avyy—rJOovy (CB) & 0 0 0 0 0 0 0
Z Dk 0 0 2 0 0 0 2
&t 5 949] 21,694 1 5, 848 41 28, 501
BELZEE/RBS xR (ER)

B ® 1 108 14 B/ = A =X
A& (FEXRIE) 0. 0% 6. 6% 44. 8% 0.0% 48. 6% 0.0%| 100. 0%
A (BedEEE T ;52 x45)) 0.0% 6. 7% 79.8% 0. 0% 13. 4% 0.1%| 100. 0%
K& (FLNITKRENRILTESE 0. 0% 2.1% 96. 8% 0.0% 1. 0% 0.0%| 100. 0%
oy )—Fk (RC) & 0. 0% 0.0%| 100. 0% 0. 0% 0. 0% 0.0%| 100. 0%
BHarv oy )—Fk (RC) &E<TLNTD 0.0% 0.0%| 100. 0% 0.0% 0.0% 0.0%| 100. 0%
e 8 & 0. 0% 6. 5% 79. 2% 0. 0% 13.7% 0.6%| 100.0%
$B%E (S) ELTLNDTD 0.0% 0. 6% 98. 3% 0.0% 1.1% 0.0%| 100.0%
BHEHH Y J—bk (SRC) & - - - - - - -
avy)—kJBAvYY (CB) & - - - - - - -
Z Dk 0. 0% 0.0%| 100.0% 0. 0% 0. 0% 0.0% 100.0%
&5t 0.0% 3.3% 76.1% 0.0% 20. 5% 0.0%| 100. 0%
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6-2 BEsE (A%)

B A 40 A O/\ O N &5t
F# 15 718 27,692 1 21 41 28,511
% 0.1% 2. 7% 97.1% 0. 0% 0.1% 0.0%| 100.0%
BELENFH/ BARXR (AE)

%L A 10 4 0/\ =) I\ &t
A& (FEERIE) 4 698] 10, 711 0 12 11 11,426
A& (BB T E<2x45%)) 0 48 693 0 5 1 147
RiE (FTUNTRENRIIVTES 0 4 2,506 0 0 0 2,510
a2 )—hk (RC) & 0 0 20 0 0 0 20
oo )—b RC) BESTLANTD 0 0 16 0 0 0 16
e (S) & 0 3 164 0 1 0 168
HE (S) BT LT 11 25| 13,569 1 3 21 13,611
HEHHa T )— bk (SRC) & 0 0 0 0 0 0 0
avyy—rJovy (CB) & 0 0 0 0 0 0 0
Z Dk 0 0 2 0 0 0 2
&it 15 778] 27,681 1 21 4] 28, 500
BELENEES/ BRI (A%E)

B ® 1 108 4 B8/ = A =X
A& (EXRIE) 0. 0% 6.1% 93. 7% 0.0% 0. 1% 0.0%| 100. 0%
A (BedEEE T ;52 x45)) 0.0% 6. 4% 92. 8% 0. 0% 0. 7% 0.1%| 100. 0%
K& (FLNITKRENRILTESE 0. 0% 0.2% 99. 8% 0.0% 0. 0% 0.0%| 100. 0%
oy )—Fk (RC) & 0. 0% 0.0%| 100. 0% 0. 0% 0. 0% 0.0%| 100. 0%
BHarv oy )—Fk (RC) &E<TLNTD 0.0% 0.0%| 100. 0% 0.0% 0.0% 0.0%| 100. 0%
e 8 & 0. 0% 1.8% 97. 6% 0. 0% 0. 6% 0.0%| 100.0%
$B%E (S) ELTLNDTD 0.1% 0. 2% 99. 7% 0.0% 0. 0% 0.0%| 100.0%
BHEHH Y J—bk (SRC) & - - - - - - -
avy)—kJBAvYY (CB) & - - - - - - -
Z Dk 0. 0% 0.0%| 100.0% 0. 0% 0. 0% 0.0% 100.0%
&5t 0.1% 2. 7% 97.1% 0.0% 0.1% 0.0%| 100. 0%

FRISFEERREEMRRITME ) 7T -2 (FEHaEE- R THhE




6-2 BEsxE (B

ZuAL A 40 40 o /\ =X
F# 20 395 28,076 1 12 5| 28,509
% 0.1% 1.4% 98. 5% 0. 0% 0. 0% 0.0%| 100.0%
BELENFH/ BB (8

%L A 10 140 =) I\ &t
A& (FEERIE) 4 121 11, 291 1 5 3| 11,425
A& (BB T E<2x45%)) 0 23 124 0 0 0 147
RiE (FTUNTRENRIIVTES 2 36 2,472 0 0 0 2,510
a2 1)—Fk (RO) & 0 0 20 0 0 0 20
oo )—b RC) BESTLANTD 0 0 16 0 0 0 16
e (S) & 0 4 160 0 4 0 168
HE (S) BT LT 14 2101 13, 381 0 3 2| 13,610
HEHHa T )— bk (SRC) & 0 0 0 0 0 0 0
avyy—rJovy (CB) & 0 0 0 0 0 0 0
Z Dk 0 1 1 0 0 0 2
&it 20 395 28, 065 1 12 5 28,498
BELENEES/ BRI (8

B ® A = 40 =) I\ =X
A& (EXRIE) 0. 0% 1.1% 98. 8% 0.0% 0. 0% 0.0%| 100. 0%
A (BedEEE T ;52 x45)) 0.0% 3.1% 96. 9% 0. 0% 0.0% 0.0%| 100.0%
K& (FLNITKRENRILTESE 0.1% 1.4% 98. 5% 0.0% 0. 0% 0.0%| 100. 0%
oy )—Fk (RC) & 0. 0% 0.0%| 100.0% 0. 0% 0. 0% 0.0%| 100.0%
BHarv oy )—Fk (RC) &E<TLNTD 0.0% 0.0%| 100. 0% 0.0% 0.0% 0.0%| 100. 0%
e 8 & 0. 0% 2. 4% 95. 2% 0. 0% 2. 4% 0.0%| 100.0%
$B%E (S) ELTLNDTD 0.1% 1.5% 98. 3% 0.0% 0. 0% 0.0%| 100.0%
BHEHH Y J—bk (SRC) & - - - - - - -
avyy—rJowyy (CB) & - - - - - - -
Z Dk 0. 0% 50. 0% 50. 0% 0. 0% 0. 0% 0.0% 100.0%
&5t 0.1% 1.4% 98. 5% 0.0% 0.0% 0.0%| 100. 0%
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1.3 - RIRFICEHT S &

1-1 BEfpO s

[ 10%BLE | 15%BLE | 20%BLE ‘

10WRH | jouxim | coukim | 25ukim | 2OWeE | BE
P 9 27 599 5,377 22,500 28,512
Y, 0 0% 0% 2% 18.9%| _ 78.9% _ 100.0%
HEiS T AR F A/ B AR O

[ 10%5LE | 15%LE | 20%BLE ‘

bR | (5ykis | 2ok | 25wk | 2OWEE | AB
A& (FEEIE) 2 6 95 1,223 10, 100 11, 426
RE (FeAEE T 5<0 X 42) 0 i 31 104 611 747
RE (FLNTARBE R IEE Z 3 91 809]  1.603 2510
ka2 )— b+ (RC) & 0 0 1 2 17 20
BEHao0 —F (RC) BCTLNTD 0 0 1 7 13 T
BE () B 0 0 7 23 138 768
BE (S) BILNTS 3 7 373 3.212] 10,007 13,612
BERG Y —F (SRC) & 0 0 0 0 0 0
S hy—FJavh (B) & 0 0 0 0 0 0
Z0M 0 0 0 1 1 7
& 9 77 509]  5.376]  22.490| 28,501
M ToA B4 /R eRE O

[ 10%BLE | T5%BLE | 20%BLE ,

WK | j5ukim | 2ouskim | osuskig | 20W&AE | &
R E GRLE) 0 0% 0.1% 084 10 7% _ 88.4% 100.0%
RE (AR T 50 X 45)) 0. 0% 0.1% 4% 13.9% _ 81.8% 100, 0%
KE (TUNTRENRLTEE 0. 2% 014 364 3224  63.9% 100.0%
BHa5 U —F (RO) & 005 0.0% 506 1005 8504 100 0%
BHa0 1 —F (RC) BCTLNTD 0. 0% 006 634 1254 _ 81.3% 100,05
BE ) B 0. 0% 006 426 13 7% 82 1% 100,05
BE (5) ETLAD 006 0.1% 2. 7% 2364 73.5% 100 0%
BERG Y —F (SRC) & - . - . - -
S5 —FrJOvs (CB) & . - - - n .
Z0M 0 0% 0.0% 0.0 5004 5004 100.0%
& 006 0.1%  2.1% 18 9%  78.9% 100 0%
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HEFE

8. BRIKBICEAT S L

8-4 FBiBLFEHR SHEFAOE) FIR

BEBIREY IR it
F# 20, 940 7,577 28,517
% 73. 4% 26. 6% 100. 0%
BELZR P/ BZBEAER GLERDO) ER

BEIRET EEiR =Xii
A& (FEERIE) 7,104 4,324 11,428
A& (BAAEE TR x4%)) 626 121 747
ARiE (FULNTKREBNRIVTESE 2, 450 60 2,510
oo )—k (RC) & 11 9 20
a2 U—k RC) &E<TLADD 9 7 16
#%E (S) & 134 34 168
#%B (S) ETLNT> 10, 595 3,020 13,615
BHEHHaY)— b (SRC) & 0 0 0
avy)y—kJovy (CB) & 0 0 0
Z Dt 2 0 2
&5t 20, 931 7,575 28, 506
BETLEREE/ B BEAER SIEROL) ER

BEIREY EIR it
A& (FERIE) 62. 2% 37.8% 100. 0%
AE (BEET RO x4%D) 83. 8% 16. 2% 100. 0%
K& (TLNITKRENRIVIESE 97. 6% 2. 4% 100. 0%
Bary)—bk (RC) & 55. 0% 45. 0% 100. 0%
a2 —k RC) ESTLADD 56. 3% 43. 8% 100. 0%
#%E (S) & 79. 8% 20. 2% 100. 0%
#%E (S) ECTLAND> 77. 8% 22. 2% 100. 0%
BEHHIY)—k (SRC) & — - -
avhyy—krJayy (CB) & - - -
Z N 100. 0% 0. 0% 100. 0%
it 73. 4% 26. 6% 100. 0%
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8-4 FAELRER (SIEERFOE) At

ZEAL EFHkA k2 Ek 3 =it
P 794 1, 254 5,436 136 7,620
% 10. 4% 16. 5% 71.3% 1.8% 100. 0%
BEIENFH/EBEREHR G ERON)  db

EENYET R Fih 2 Fk 3 =1
RiE (FEEIE) 596 715 2,954 79 4,344
AE (BB TR x4%)) 10 10 78 23 121
A& (TLNTKRENRIVIESE 1 20 39 1 61
By )—hk (RC) & 0 1 7 1 9
a1 —bk (RC) ESTLANDD 0 0 7 0 7
#®E (S) & 0 12 21 1 34
BHE (S) ETLNT> 187 494 2,330 31 3,042
HEHEHa ) — bk (SRC) & 0 0 0 0 0
a4y )—kJOowvy (CB) & 0 0 0 0 0
Z N1t 0 0 0 0 0
it 794 1,252 5,436 136 7,618
BETEMNEE/EBERER WL EROR)

BZEAL EFkA k2 Ek 3 =it
R (FEERIE) 13.7% 16. 5% 68. 0% 1.8% 100. 0%
RiE (BHEEE T Q2 x45) 8.3% 8.3% 64. 5% 19. 0% 100. 0%
K& (TLNITKRENRIVTESE 1.6% 32. 8% 63. 9% 1.6% 100. 0%
o>y )—bk (RC) & 0.0% 11.1% 77.8% 11.1% 100. 0%
BHHar oy —bk (RC) &E<TLANDTD 0. 0% 0. 0% 100. 0% 0.0% 100. 0%
& (S) & 0. 0% 35. 3% 61. 8% 2.9% 100. 0%
HE (S) ETLNT> 6. 1% 16. 2% 76. 6% 1. 0% 100. 0%
HEHHa2)—k (SRC) & - - - - -
avhyy—rJawyy (CB) & - - - - -
Z Nt - - - - -
&t 10. 4% 16. 4% 71. 4% 1.8% 100. 0%

FRISFEEEFEEMARETME G E) T2 (et R TR




8-4 FBiELEHR SIEFAOE) =X

ZEAL EFHkA k2 Ek 3 =it
P 116 1,452 5,938 123 7,629
% 1.5% 19. 0% 77. 8% 1. 6% 100. 0%
BEIEMNFH/EBEREHR G ERON) =

AL FkA Fih2 F#k 3 =1
A& (FEEIX) 88 759 3,428 74 4,349
AE (BB TR x4%)) 2 9 88 22 121
A& (TLNTKRENRIVIESE 1 29 31 1 62
By )—hk (RC) & 2 1 5 1 9
a1 —bk (RC) ESTLANDD 0 0 5 2 7
#®E (S) & 1 12 20 1 34
BHE (S) ETLNT> 22 642 2, 359 22 3,045
HEHEHa ) — bk (SRC) & 0 0 0 0 0
a4y )—kJOowvy (CB) & 0 0 0 0 0
Z N1t 0 0 0 0 0
it 116 1,452 5,936 123 7,627
BETEMNEE/EBEREHR WL EROS) X

BZEAL EFkA k2 Ek 3 =it
R (FEERIE) 2. 0% 17.5% 78. 8% 1. 7% 100. 0%
RiE (BHEEE T Q2 x45) 1. 7% 1. 4% 72. 7% 18. 2% 100. 0%
K& (TLNITKRENRIVTESE 1.6% 46. 8% 50. 0% 1.6% 100. 0%
o>y )—bk (RC) & 22.2% 11.1% 55. 6% 11.1% 100. 0%
BHHar oy —bk (RC) &E<TLANDTD 0. 0% 0. 0% 71. 4% 28. 6% 100. 0%
& (S) & 2.9% 35. 3% 58. 8% 2.9% 100. 0%
HE (S) ETLNT> 0.7% 21.1% 77. 5% 0. 7% 100. 0%
HEHHa2)—k (SRC) & - - - - -
avhyy—rJawyy (CB) & - - - - -
Z Nt - - - - -
&t 1.5% 19. 0% 77.8% 1. 6% 100. 0%

FRISFEEEFEEMARETME G E) T2 (et R TR




8-4 FBiBLEHR SIEFAOE) ®

ZEAL EFHkA k2 Ek 3 =it
P 21 1,504 6,017 87 7,629
% 0. 3% 19. 7% 78. 9% 1.1% 100. 0%
BEIENFH/EBEREHR G ERON) @

AL FkA Fih2 F#k 3 =1
A& (FEEIX) 12 750 3,536 51 4,349
AE (BB TR x4%)) 0 13 88 20 121
A& (TLNTKRENRIVIESE 0 22 40 0 62
By )—hk (RC) & 0 1 7 1 9
a1 —bk (RC) ESTLANDD 0 0 6 1 7
#®E (S) & 1 11 21 1 34
BHE (S) ETLNT> 8 707 2,318 12 3,045
HEHEHa ) — bk (SRC) & 0 0 0 0 0
a4y )—kJOowvy (CB) & 0 0 0 0 0
Z N1t 0 0 0 0 0
it 21 1, 504 6,016 86 7,627
BETEMNEE/EBEREHR VI EROS) &

BZEAL EFkA k2 Ek 3 =it
R (FEERIE) 0. 3% 17.2% 81.3% 1. 2% 100. 0%
RiE (BHEEE T Q2 x45) 0. 0% 10. 7% 72. 7% 16. 5% 100. 0%
K& (TLNITKRENRIVTESE 0. 0% 35. 5% 64. 5% 0. 0% 100. 0%
o>y )—bk (RC) & 0.0% 11.1% 77.8% 11.1% 100. 0%
BHHar oy —bk (RC) &E<TLANDTD 0. 0% 0. 0% 85. 7% 14. 3% 100. 0%
& (S) & 2.9% 32. 4% 61. 8% 2.9% 100. 0%
HE (S) ETLNT> 0. 3% 23. 2% 76.1% 0. 4% 100. 0%
HEHHa2)—k (SRC) & - - - - -
avhyy—rJawyy (CB) & - - - - -
Z Nt - - - - -
&t 0. 3% 19. 7% 78. 9% 1.1% 100. 0%
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8-4 FBiEKFEHR S EFOE) @&

ZEAL EFHkA k2 Ek 3 =it
P 161 1,319 5,997 150 7,627
% 2.1% 17. 3% 78. 6% 2.0% 100. 0%
BEIENFH/ EBERER S EROR) &

AL FkA Fih2 F#k 3 =1
A& (FEEIX) 96 750 3,422 79 4,347
AE (BB TR x4%)) 1 10 87 23 121
A& (TLNTKRENRIVIESE 3 20 38 1 62
By )—hk (RC) & 1 1 6 1 9
a1 —bk (RC) ESTLANDD 0 0 5 2 7
B%E (S & 5 9 19 1 34
BHE (S) ETLNT> 55 529 2,418 43 3,045
HEHEHa ) — bk (SRC) & 0 0 0 0 0
a4y )—kJOowvy (CB) & 0 0 0 0 0
Z N1t 0 0 0 0 0
it 161 1,319 5,995 150 7,625
BETEMNEE/BBEREHR W EROR) &

BZEAL EFkA k2 Ek 3 =it
R (FEERIE) 2.2% 17.3% 78. 7% 1.8% 100. 0%
RiE (BHEEE T Q2 x45) 0. 8% 8.3% 71.9% 19. 0% 100. 0%
K& (TLNITKRENRIVTESE 4.8% 32. 3% 61. 3% 1.6% 100. 0%
o>y )—bk (RC) & 11.1% 11.1% 66. 7% 11.1% 100. 0%
BHHar oy —bk (RC) &E<TLANDTD 0. 0% 0. 0% 71. 4% 28. 6% 100. 0%
& (S) & 14. 7% 26. 5% 55. 9% 2.9% 100. 0%
HE (S) ETLNT> 1.8% 17. 4% 79. 4% 1. 4% 100. 0%
HEHHa2)—k (SRC) & - - - - -
avhyy—rJawyy (CB) & - - - - -
Z Nt - - - - -
&t 2.1% 17. 3% 78. 6% 2.0% 100. 0%

FRISFEEEFEEMARETME G E) T2 (et R TR




HEFE

9. SEMEBEBZEADERICET S &

9-1 SEEFREXNEKER (FRHAS)

ik Fh2 F# 3 ) FkS =&t
F# 14, 233 1,131 13,118 21 5 28, 508
% 49. 9% 4. 0% 46. 0% 0.1% 0. 0% 100. 0%
BET AP/ SihE FREMNKER ERIHS)

ik 1 Fih2 Fi#k 3 Fiha Fik5 &t
K& (FEEIE) 2,131 273 8,402 8 4 11, 424
K& (BB T %<2 x 455)) 3717 61 306 2 1 147
K& (FLNTKRENRRIVTEE 1,826 23 660 1 0 2,510
#HEHar s )—k (RO & 15 0 5 0 0 20
#HHav ) —F (RO ELTLANTY 10 0 6 0 0 16
HE (S & 142 4 22 0 0 168
B%E (S) EITLNT> 9,120 767 3, 713 10 0 13,610
BHEHKHFI V) —F (SRC) & 0 0 0 0 0 0
avy)—krJavY (CB) i& 0 0 0 0 0 0
Z D 2 0 0 0 0 2
= 14, 229 1,128 13, 114 21 5 28, 497
BELEMNE S/ SinE FREMKEFR (FRAS)

ik Fh2 F# 3 Fih4 FkS =k
K& (FEERIEK) 24. 0% 2. 4% 73. 5% 0. 1% 0. 0% 100. 0%
RiE (BHEEETE2 x4%6D) 50. 5% 8. 2% 41. 0% 0. 3% 0. 1% 100. 0%
K& (FULNTKKRENSRILIES 12. 7% 0. 9% 26. 3% 0. 0% 0. 0% 100. 0%
#HHar oy )—F (RO) & 75. 0% 0. 0% 25. 0% 0. 0% 0. 0% 100. 0%
#HHa oY —F (RO) @EST LT 62. 5% 0. 0% 37.5% 0. 0% 0. 0% 100. 0%
#%E O & 84. 5% 2. 4% 13. 1% 0. 0% 0. 0% 100. 0%
B%E () BEBITLNDD 67. 0% 5. 6% 27. 3% 0. 1% 0. 0% 100. 0%
HEHHIH)—F (SRC) & - - - - - -
avyYY—kJOvyY (CB) i& - - - - - -
T DAt 100. 0% 0. 0% 0. 0% 0. 0% 0. 0% 100. 0%
Bit 49. 9% 4. 0% 46. 0% 0. 1% 0. 0% 100. 0%
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